MY NOIXPN -8 VM IN

.ZE€CYY|f(2)| = |1 — |z|| NNRMPNRN NNYY PPN NNMP DNN

1 1 1
f (1 — Z) == =~ Mppnn {z||z] < 2} PPVLLIND NPIPNON I NN INND

TLZ
n e NHHD
: DNDY TON NN INSDY NINAN NPSPNON DY DYDINN DD NN NN

. f(z) = (e — 1)sinzcosz .N

.g(2) =sinz? a

z%sinz

h(z) =

coz—1
: DINID NPIPNAN S NYPIONON MTIPIN IXR MDY RXND

sinz

S@) =
Fz)=ez a
flz) =2

z
z z
f(Z) = ECOS (5) -
sinz

f(2) = sy

NN GONI . Z YW NAPNIN 12202 NPV f(2), g(2), h(Z) nvspnon»d )y .5
2 979N DIN 1(Z)-9,3 770N DIR V> g(2)-D, 2 7ToN A0 f(2)-Y v zy -29d
19 Zg-2 NPIDNPON NDHINN .1 71700 OX h(2)-9

f(2)g(2)
‘r(z)+h(z)
f(2)+g(2)
‘r(z)+h(z)

VP NOY YWY PN g(2) 0N . f(2) DY TPy NPIONYO NNPI Z MNN
.g © f M1590N YY TP NN D) RO Zg 7D NN

: TN NPIPNOT NIY 1NT NV NN

1
z(z—-3)
1
z2(z-2)

Zy =377z, = 0 PN 20 f(2) = N

{z|0 < |z — 2| < 2} myavr {z||z — 2| > 2} nyava f(z) =



